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g = HE £
X (EBe: Eofl, TEBe: T YD m m I NNAE R BT OO FEIH T
OB | A B | oBER | B OB | E OB | b & TE A% G
m

8 o] B A o] T RO X 0. 00 0. 00 0. 00 0. 00 88.0 0.0 0.0 88.0 88. O|HlErk Mk
67.9 40 ~ 68. 4 0 3.50 0. 00 1. 50

8 o] B A o] T R X 0. 00 0. 00 0. 00 0. 00 100.0 0.0 0.0 100. 0 188. 0| HEAK P
68. 4 0 ~ 68.5 0 3.50 0. 00 1. 50

8 o] B A [ T R X 7.00 0. 00 16. 10 0. 00 100.0 0.0 0.0 100. 0 288. 0| HEAK Mt
68.5 0 ~ 68.6 0 6. 50 0. 00 1. 50

8 o] B A [ T RO X 9.75 9.30 2. 50 1.25 100.0 0.0 0.0 100. 0 388. 0| Pk Mt
68. 6 0 ~ 68.7 0 7.00 4. 00 0. 00

8 o] B A [ T RO X 6. 50 3.50 2. 60 0. 50 100.0 0.0 0.0 100. 0 488. 0| HEAK Mt
68.7 0 ~ 68.8 0 6. 00 3.50 0. 80

8 o] B A o] T RO X 6. 00 3. 40 3. 00 1.00 -1.5 0.0 101.5 100. 0 588. 0| HEAK Mt
68.8 0 ~ 68.9 0 6. 00 3. 60 1. 00

8 o] B A [ T RO X 6. 00 3.50 2. 00 1.00 100.0 0.0 0.0 100. 0 688. 0| HEAK Mt
68.9 0 ~ 69.0 0 6. 00 3. 60 1. 00

8 [ B A o] T B X 6. 50 3.50 1.00 0. 00 100. 0 0.0 0.0 100.0 788. 0| HEAK M2
69.0 0 ~ 69. 1 0 6. 50 3.70 0. 00

8 [ B A o] T R X 9.75 3.00 1.00 1.45 100. 0 0.0 0.0 100.0 888. O|HEA A2k
69. 1 0 ~ 69. 2 0 9.75 3. 40 1. 45

8 [ B A [ T R X 9.75 3.50 1.00 1.45 100. 0 0.0 0.0 100. 0 988. 0| HEA A2k
69. 2 0 ~ 69.3 0 9.75 3. 40 1.45

8 [ B A o] T B X 9.75 3.50 1.00 1.45 100. 0 0.0 0.0 100. 0 1, 088. O|PEK P2
69.3 0 ~ 69. 4 0 9.75 3.50 1.45

8 [ B A o] T B X 9.75 3.50 1.00 1.45 100. 0 0.0 0.0 100. 0 1, 188. O|PEAK P&
69. 4 0 ~ 69.5 0 9.75 3.50 1.45

8 [ B A o] T BRI 9. 00 3.00 0. 50 1.45 100. 0 0.0 0.0 100. 0 1, 288. O|HEAK L&
69.5 0 ~ 69.5 100 12. 00 3.00 1.35

8 [ B A o] T R X 12. 00 2. 90 0. 50 1.45 1.0 0.0 99.0 100. 0 1, 388. O|HEAK L&
69.5 100 ~ 69.6 97 9. 00 3.00 1. 45
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8 [ B A o] T RO X 9. 00 3.90 1.00 1.20 21.5 0.0 78. 100. 1, 488. O|HEAK MGl ks
69.6 97 ~ 69. 0 9. 00 1. 60 1. 20

8 o] B A [ T RO X 9. 00 4. 60 1.00 1.45 100.0 0.0 0. 100. 1, 588. O |HEAK MGttt
69.8 0 ~ 69. 0 9. 00 4.70 1.45

8 o] B A o] T R X 9. 00 4.20 1.00 1.45 100.0 0.0 0. 100. 1, 688. O|HEA MGkt
69.9 0 ~ 70. 0 9. 00 4.30 1.45

8 [ B A [ T RO X 9. 00 3.30 0. 50 1.45 100.0 0.0 0. 100. 1, 788. O|HEAK 1 Gttt
70.0 0 ~ 70. 0 12. 00 3.00 1.45

8 o] B A o] T RO 12.00 3. 00 0. 50 1.45 100.0 0.0 0. 100. 1, 888. O|HEAK MGttt
70. 1 0 ~ 70. 0 9. 00 3.20 1.45

8 o] B A [ T RO 9. 00 4. 00 2. 00 1.20 100.0 0.0 0. 100. 1, 988. 0| HEAK MGttt
70. 2 0 ~ 70. 0 9. 00 4.10 1. 20

A o] B A [ T RO X 9. 00 3.90 2. 00 1.20 4.0 0.0 96. 100. 2, 088. 0|k Pk
70.3 0 ~ 70. 100 9. 00 3.90 1. 20

8 [ B A o] T R X 9.75 3.00 2. 80 1. 20 100.0 0.0 0. 100. 2, 188. 0| Hl/k &2
70.3 100 ~ 70. 0 9. 00 3.30 1. 20

8 [ B A o] T R X 9.75 3.70 2. 00 1. 20 100. 0 0.0 0. 100. 2, 288. 0| HE/k ME&f2E
70.5 0 ~ 70. 0 9. 00 3. 60 1. 20

8 [ B A o] T BRI 9.00 5.00 1.00 1. 20 100.0 0.0 0. 100. 2, 388. 0| Hl/k A2
70.6 0 ~ 70. 0 9. 00 4.50 1. 20

8 [ B A o] T BRI 9.00 4. 90 1.00 1. 20 100.0 0.0 0. 100. 2, 488. 0| HlE/k A2
70.7 0 ~ 70. 0 9. 00 4. 40 1. 20

A [ B A [ T B X 9.00 4. 50 1.00 1. 20 100.0 0.0 0. 100. 2, 588. 0| HlE/k &2
70.8 0 ~ 70. 0 9. 00 4.50 1. 20

8 [ B A o] T R 9.00 3.50 0. 00 2.00| -140.5 0.0 240. 100. 2, 688. 0| HE/k &2
70.9 0 ~ 71. 0 9. 00 3.50 2. 00

8 [ B A o] T BRI 9.00 3.50 0. 00 2.00| -232.8 0.0 332. 100. 2, 788. 0| HE/k ME&f2E
71.0 0 ~ 71. 0 9. 00 3.50 2. 00
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m

8 [ B A o] T RO X 9. 00 3.50 0. 00 2. 00 -79. 2 0.0 179. 2 100. 0 2, 888. O|HEsk MEA:
71.1 0 ~ 71.2 0 9. 00 3.50 2.00

8 o] B A [ T RO X 9. 00 3. 60 0. 00 2. 00 100.0 0.0 0.0 100. 0 2, 988. 0| HEsk P
71.2 0 ~ 71.3 0 9. 00 3.50 2. 00

8 o] B A o] T R X 9. 00 3.80 0.70 1.20 100.0 0.0 0.0 100. 0 3, 088. 0| HEsk P
71.3 0 ~ 71.4 0 12. 00 2.70 1. 80

8 [ B A [ T RO X 9. 00 3. 90 0.70 1.20 100.0 0.0 0.0 100. 0 3, 188. OBk PEA:
71.4 0 ~ 71.4 100 15. 00 3.30 1. 20

8 o] B A o] T RO 12.50 3.20 2. 50 0. 60 100.0 0.0 0.0 100. 0 3, 288. 0|k P
71.4 100 ~ 71.5 88 9. 00 4.50 0. 60

8 o] B A [ T RO 9.75 4. 00 0.70 0.50 100.0 0.0 0.0 100. 0 3, 388. O|HEak PEA:
71.5 88 ~ 71.6 72 12.50 4.50 0. 50

A o] B A [ T RO X 12.50 2.80 0.70 0. 60 100.0 0.0 0.0 100. 0 3, 488. O|HEak PEAA:
71.6 72 ~ 71.8 0 9.75 3. 40 0. 60

8 [ B A o] T R X 3.50 3.00 0. 00 0. 50 70.0 0.0 0.0 70.0 3, 558. 0| HE/k Az
71.8 0 ~ 71.8 10 3.50 4. 20 0. 50

8 [ B A o] T R X 3.50 3.00 0. 00 0. 50 30.0 0.0 0.0 30.0 3, 588. 0| Pk A2
71.8 70 ~ 71.9 0 3.50 4. 20 0. 50

8 [ B A o] T BRI 3.50 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 3, 688. 0| HlE/k A2
71.9 0 ~ 72.0 13 3.50 4.50 0. 50

8 [ B A o] T BRI 3.50 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 3, 788. 0| Hl/k ME&f2E
72.0 13 ~ 72.1 13 3.00 4.50 0. 50

A [ B A [ T B X 3. 00 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 3, 888. 0| HE/k A%
72.1 13 ~ 72.2 13 3.00 4.50 0. 50

8 [ B A o] T R 3. 00 4.30 3.50 0. 50 100. 0 0.0 0.0 100. 0 3, 988. 0| Hl/k A2
72.2 13 ~ 72.3 13 3.00 3.00 0. 50

8 [ B A o] T BRI 3. 00 4.30 3.50 0. 50 100. 0 0.0 0.0 100. 0 4, 088. 0| Pk &2
72.3 13 ~ 72. 4 14 6. 00 3.00 0.50
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8 [ B A o] T RO X 6. 00 3. 00 3. 50 0.50 50. 0 0.0 0.0 50. 0 4, 138. 0|k Mg
72. 4 14 ~ 72.4 64 9. 50 3.00 0. 50

8 o] B A [ T RO X 6. 00 4. 00 3. 50 0. 50 120.0 0.0 0.0 120. 0 4, 258. 0| ek P
72.4 64 ~ 72.5 85 9. 50 3.00 0. 50

8 o] B A o] T R X 6. 00 4. 00 3. 50 0. 50 130.0 0.0 0.0 130.0 4, 388. OBk Mg
72.5 85 ~ 72.7 15 9. 50 4. 00 0. 50

8 [ B A [ T RO X 6. 00 3.50 2. 00 0. 50 100. 0 0.0 0.0 100. 0 4,488.0|7 A 7 7 /L Lk
72.7 15 ~ 72.8 15 9. 50 4. 00 0. 50

8 o] B A o] T RO 6. 00 3.50 2. 00 0.50 100. 0 0.0 0.0 100. 0 4,588.0|7 A 7 7 /L Lk
72.8 15 ~ 72.9 20 9. 50 4. 00 0. 50

8 o] B A [ T RO 6. 50 4. 00 2. 00 0.50 18.9 0.0 138.1 157.0 4,745. 0|7 A 7 7 )L Lk
72.9 20 ~ 73.0 69 9. 50 4. 50 0. 50

A o] B A [ T RO X 6. 50 3. 00 2. 00 0.50 0.0 0.0 132.0 132.0 4,877.0|7 A7 7 /L Mk
73.0 69 ~ 73.2 3 9.75 3.00 0. 50

8 [ B A o] T R X 6. 00 3.00 2.00 0. 50 102.0 0.0 9.0 111.0 4,988. 0|7 A7 7 )b &k
73.2 3~ 73.3 0 9.75 3.00 0. 50

8 [ B A o] T R X 6. 50 3.00 2. 60 0. 50 89.7 0.0 10.3 100.0 5,088. 0| 7 A 7 7 /b &4k
73.3 0 ~ 73. 4 12 9.75 3.00 0. 50

8 [ B A o] T BRI 9.75 3.00 2.00 0. 50 90. 6 0.0 9.4 100. 0 5, 188. 0|7 A 7 7 /b &k
73. 4 12 ~ 73.5 12 9.75 3.00 0. 50

8 [ B A o] T BRI 9.75 4. 50 2.00 0. 50 100.0 0.0 0.0 100. 0 5,288. 0|7 A7 7 /b &k
73.5 12 ~ 73.6 0 9.75 4. 00 0. 50

A [ B A [ T B X 9.75 4.50 2.00 0. 50 100.0 0.0 0.0 100. 0 5,388. 0|7 A7 7 /b b &4k
73.6 0 ~ 73.7 0 9.75 5. 00 0. 50

8 [ B A o] T R 9.75 4. 50 2.00 0. 50 100.0 0.0 0.0 100. 0 5,488. 0|7 A7 7 )b b &4k
73.7 0 ~ 73.7 100 9.75 5. 00 0. 50

8 [ B A o] T BRI 9.75 4. 50 2.00 0. 50 100.0 0.0 0.0 100. 0 5,588. 0|7 A7 7 /b &%k
73.7 100 ~ 73.9 4 9.75 6. 75 0. 50
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8 [ B A o] T RO X 9.75 4. 00 2. 00 0.50 100. 0 0.0 0.0 100. 0 5,688. 0|7 A 7 7 /L Lk
73.9 4 ~ 74.0 0 9.75 4. 00 0. 50

8 o] B A [ T RO X 9.75 4.20 2. 00 0. 50 100. 0 0.0 0.0 100. 0 5, 788.0|7 A 7 7 /L [k
74.0 0 ~ 74.0 100 9.75 4. 00 0. 50

8 o] B A o] T R X 9.75 3. 00 2. 00 0. 50 100. 0 0.0 0.0 100. 0 5,888.0|7 A 7 7 /L [fidk
74.0 100 ~ 74.1 100 9.75 3.00 0. 50

8 [ B A [ T RO X 9.75 3. 00 2. 00 0. 50 100. 0 0.0 0.0 100. 0 5,988. 0|7 A 7 7 /L [k
74.1 100 ~ 74.1 200 9.75 3.00 0. 50

8 o] B A o] T RO 9.75 3. 00 2. 00 0.50 100. 0 0.0 0.0 100. 0 6, 088. 0|7 A 7 7 /L [k
74.1 200 ~ 74.1 301 9.75 3.00 0. 50

8 o] B A [ T RO 9.75 5. 50 2. 00 0.50 99.0 0.0 0.0 99.0 6, 187. 0|7 2 7 7 /L [k
74.1 301 ~ 74.4 100 9.75 3.00 0. 50

A o] B A [ T RO X 9.75 5. 50 2. 00 0.50 47.0 0.0 0.0 47.0 6, 234. 0|7 X 7 7 /L AL
74.4 100 ~ 74.4 147 9.75 3.00 0. 50

8 [ B A o] T R X 9.75 4.13 0. 00 0.57 45.0 0.0 0.0 45.0 6,279. 0|7 A7 7 )b b &k
T4.4 147 ~ 74.4 192 9.75 4. 20 0. 60

8 [ B A o] T R X 9.75 3.00 2.00 0. 50 8.0 0.0 0.0 8.0 6, 287. 0|7 A7 7 )b &k
74.4 192 ~ 74.4 200 9.75 3.00 0. 50

8 [ B A o] T BRI 9.75 3.00 2.00 0. 50 100.0 0.0 0.0 100. 0 6,387. 0|7 A7 7 )b &4k
74.4 200 ~ 74.4 300 9.75 3.00 0. 50

8 [ B A o] T BRI 9.75 3.00 2.00 0. 50 47.6 0.0 52. 4 100. 0 6,487. 0|7 A 7 7 )b &k
74.4 300 ~ 74.7 100 9.75 3.00 0. 50

A [ B A [ T B X 9.75 3.00 2.00 0. 50 100.0 0.0 0.0 100. 0 6, 587. 0| 7 A 7 7 )b &k
74.7 100 ~ 74.7 199 9.75 3.20 0. 50

8 [ B A o] T R 9.75 3.00 2.00 0. 50 100.0 0.0 0.0 100. 0 6, 687. 0| 7 A7 7 )b b &4k
74.7 199 ~ 74.9 100 9.75 3.00 0. 50

8 [ B A o] T BRI 9.75 3.00 2.00 0.50[ -130.8 0.0 216. 8 86. 0 6, 773. 0| 7 A 7 7 )b &k
74.9 100 ~ 75.0 86 9.75 3.00 0. 50
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L) =l A& 53
X (EBe: Eofl, TEBe: T YD m m EINAE & % 1 O FE A T
OB | A B | OPER B | E K| hexv & TERR AR
m

8 [ B A o] T RO X 9.75 2.75 2. 00 0.50 217.0 0.0 0. 217. 6,990. 0| 7 2 7 7 )L | Ak
75.0 86 ~ 75. 96 9.75 2.75 0. 50

8 o] B A [ T RO X 9.75 2.50 2. 00 0. 50 94.0 0.0 3. 97. 7,087.0[ 7 2 7 7 /v |k
75.2 96 ~ 75. 94 9.75 2. 50 0. 50

8 o] B A o] T R X 9.75 2.50 2. 00 0. 50 140.0 0.0 0. 140. 7, 227. 0| ek Mt
75.3 94 ~ 75. 34 9.75 2. 50 0. 50

8 [ B A [ T RO X 9.75 2.50 2. 00 0. 50 60. 0 0.0 0. 60. 7, 287. 0| Ak Mt
75.5 34 ~ 75. 94 9.75 3.00 0. 50

8 o] B A o] T RO 9.75 2. 60 2. 00 0.50 64.9 0.0 21. 86. 7, 373. 0| ek Mt
75.5 94 ~ 75. 80 9.75 2. 50 0. 50

8 o] B A [ T RO 9.75 3. 00 2. 00 0.50 100. 0 0.0 0. 100. 7,473. 0|7 2 7 7 /v | Ak
75.6 80 ~ 75. 76 9.75 3.00 0. 50

A o] B A [ T RO X 9.75 2. 50 0. 00 0.50 100. 0 0.0 0. 100. 7,573.0| 7 2 7 7 /L MLk
75.7 76 ~ 75. 76 9.75 3.00 0. 50

8 [ B A o] T R X 9.75 2. 60 0. 00 0. 50 40.5 0.0 45. 86. 7,659. 0|7 A7 7 v &k
75.8 76 ~ 75. 60 9.75 2. 50 0. 50

5 ] VLA e T P 2 X 9.75 3.25 0. 50 1.85 46.0 0.0 0. 46. 7,705. 0| 7 2 7 7 /v | il
75.9 60 ~ 76. 8 9.75 3.25 1. 90

5 ] VLA e T 2 X 9.75 3.00 2. 00 0. 50 89.0 0.0 0. 89. 7,794. 0| 7 2 7 7 /v | il
76.0 8 ~ 76. 97 9.75 6. 50 0. 50

5 e VLA e T e 22 X 9.75 3.00 2. 50 0. 50 63.6 0.0 6. 70. 7,864. 0| 7 2 7 7 /v | ik
76.0 97 ~ 76. 61 9.75 6. 50 0. 50

5 e VLA e T P 2 X 9.75 3.00 2. 50 0. 50 104.0 0.0 0. 104. 7,968. 0| 7 2 7 7 /v | ik
76. 1 61 ~ 76. 69 9.75 3.00 0. 50

5 ] VLA e T P 2 X 9.75 2.80 2. 50 0. 50 0.0 0.0 28. 28. 7,996. 0 7 2 7 7 )L | ik
76. 2 69 ~ 76. 97 9.75 2. 80 0. 50

5 e VLA T T 2 X 9.75 3.00 2. 50 0. 50 77.0 0.0 0. 7. 8,073. 0|7 A 7 7 /b ik
76. 2 97 ~ 76. 61 9.75 3.00 0. 50
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WOGHE | & E | BER | B OB | B K | b i TE A% i
m
15 ] VR e T 22 (X 9.75 3.00 2.50 0. 50 44.3 0.0 22.7 67.0 8, 140. 0|7 A 7 7 /L [k
76.3 61 ~ 76. 4 33 9.75 3.00 0. 50
8 [ B A o] T 22 XX 9.75 1.50 0. 80 0.70 18.0 0.0 0.0 18.0 8, 158. 0|7 A 7 7 /L [k
76. 4 33 ~ 76. 4 51 9.75 1. 50 0. 70
15 ] VR e T 22 (X 9.75 3.00 2.50 0. 50 115.0 0.0 0.0 115.0 8, 273. O|HEsk Pk
76. 4 51 ~ 76.5 77 9.75 3.00 0. 50
15 [t VR e T 22 (X 9.75 3.00 2.50 0. 50 100. 0 0.0 0.0 100. 0 8, 373. O|HEsk Pk
76.5 77 ~ 76. 6 58 9.75 3.00 0. 50
15 ] VR e T 22 (X 9.75 3.00 2.50 0. 50 96. 6 0.0 3.4 100. 0 8, 473. 0|k Pk
76. 6 58 ~ 76.7 64 9.75 3.00 0. 50
15 [t VR o T 22 (X 9.75 3.00 2.50 0. 50 100. 0 0.0 0.0 100. 0 8, 573. O|HErk Pk
76.7 64 ~ 76.8 63 9.75 3.00 0. 50
15 [t VR A T 22 (X 9.75 3.00 2.50 0. 50 100. 0 0.0 0.0 100. 0 8, 673. 0|k Mk
76.8 63 ~ 76.9 53 9.75 3.00 0. 50
1 ] VLA e T e 2 X 9.75 3.00 2. 50 0. 50 100.0 0.0 0.0 100.0 8, 773. OHE/k P A2k
76.9 53 ~ 77.0 51 9.75 3.00 0. 50
5 ] VLA e T P 2 X 9.75 3. 00 2. 50 0. 50 100.0 0.0 0.0 100.0 8, 873. O[HE/k Atk
77.0 51 ~ 77.0 151 9.75 3.00 0. 50
5 ] VLA e T 2 X 9.75 3.00 2. 50 0. 50 100.0 0.0 0.0 100. 0 8, 973. OHE/k A2k
77.0 151 ~ 77.2 60 9.75 3.00 0. 50
5 e VLA e T e 22 X 9.75 3.00 2. 50 0. 50 35.0 0.0 0.0 35.0 9, 008. O [k A2k
77.2 60 ~ 77.2 95 9.75 3.00 0. 50
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